AL By A AR IR

CPX-AP-I-4Al-U-I-RTD-M12

=mf5: 8086606
* BT @B E

BRSH

5 &
AFRSIWxLxH 30 mm x 170 mm x 35 mm
RIREH B MR EEH-SH L.
HIETL
FRER 166 g
NERE -20...50 °C
it R -40...70 °C
XN ESEE 5-95%
E1ry -]
BEirER IP65
IP67
B EREE REANEOHEE
B ESR CRC 1-REMEm
BRRELKE 30 mM|A
50 m REER
PWIS #F& VDMA24364-B2-L

CE &5 (BAHENIRE)

BIE EU-EMV ES RN

UKCA#7:& (SR —HMFH )

FEWE EMC 9

KC #rid KC-EMV
I RCM Mark
c UL us - Listed (OL)
NIEZ % EBiT) UL E239998
MR E 4 RoHS
MEHER , T PA
PC
EREESY
MERMEER |, BEH NBR
HEHER , OFE FPM
B LED# 1712 it FMER D HR
BEERS
AEBE IR W 5iE5
EREIR
e BB BRIE R/ AT
SHEIR
SEIRERIR
EE AT 8
ERERES
i /TR
T BR{ERESF
BWEO, hee REBWXF10 IN / XF20 OUT
BiREO, #OXR 2x i B

BRED, EERAR

M8x1, D4w#5 , BFEEN 61076-2-114

BREQ, #HBEE

4

BREQ, HiX AP

BREQD BR =

BIR , Thee WANBEFHERRIAR
R, EORR i

09/11/2023 - HFE# - Festo SE & Co. KG

1/2




FESTO

it &

BIR , #EOER M8x1, A-4R%S , FEEN 61076-2-104

IR, R/ E 4

B hikik |, ThE W H BV B TR BB S

Otk EREERR EriDE i)

oh htEm , EEREAR M8x1, A-4w%8 , FFEEN 61076-2-104

Ok, HBUEB 4

THEEENEESEM EESELV/PELV BEIEBIR
AEBEME

B EHHMERSTFEIERE , BER 24V

B 7 SR/ BAER R AR R R BN +25%

S SSEPE Bt 2x4 A (BENEBREL)

B BB ETE TEBE N E S BN BE 38 mA

BEREARZEA 10 ms

WERERY 2

BEO, M, e LEEPE DN

BEO, @A, EOXR AxIE

BEQ BA, EEEAR

M12x1, A%mES , FFEEN 61076-2-101

BRERE, WA, EBREALHA

ATEBEARAE , BN S -—ERTRE
HRURAHTFESMIUNRE.

BHEO, WA, SHIMSSHE 5
WMABE 4
MARBLERF (EK) BMEREH AP TR LR
BERNSEAERREREA 1A
WMARNBEEESRE =
WMARBEEESRE - AFBER =
NEZE BE
B
BE
E8.pA 25
BiEg 15 {1 + B4R
AR IR
=5 Bl -10-10V
-5-5V
0-10V
0-20mA
0-500 ohm
1-5V
4 -20 mA
EERE +0.025% , 25 °Cht
25°CH Y B A< #y FEE PR +0.1% T EBE
+0.1% FXSEBR
+0.2% $XS A

+0.4% HIRE

FIERBEIR ST B A X B9 TR R &I

+0.15% 3 BE
+0.15% £ EFR
+0.35% &3S EBFE
+0.9% HXBRE

09/11/2023 - HFE# - Festo SE & Co. KG

2/2



